ATS QUESTION BANK

TURNER THEORY LEVEL-1

Q 1. What arrangements should be made to extinguish the fire in the

workshop? \ ®TIRMAT & ST g3+ & AT fadt g ¥@-t Afgw?

A). Fire extinguisher\ sffreras AT

B). Buckets full of water \ =t I Y3 arfeeal
C). Buckets full of sand \%H I ¥ arfeeal
D). All of these\ I gt

Q 2. The box which contains the usual medicine, cotton, bandage etc. is
called box.\ 98 ST fITH AT a1, 33, Ust ofg Xg< g, 39

T HEl ol § |

A). Mould\TIT®

B). Coolent\‘\"ﬁaaa;

C). First Aid\WYH® i
D). TooI\G'?f\_rlT?

Q 3. What is the best way of avoiding accident? \ _g”if_c’:ﬂ J 997 BT gaiaH
IAHT FAT§ ?

A). Observing safety rules related to job, machine and workplace \ Gﬁa,
AT Ud BT & W9 § I gRem Fam & uraq SR

B). Not using safety equipments \ gX&T IIST-FIATAT BT T T8l HRAT
C). Doing work in one's way \ fedt 3rud adf® T ®1d B3I

D). Doing work hastily \ Soq dToll J BT BT

Q 4. Which of the following is an objective of first aid?\ fofifea 7 9
DI I WYHH IUAR BT ITW Iam g2

A). Preserve life\ S BT Y& HIAT

B). Prevent further harm\3ﬂﬁ —(3[%[ ard RERSIE CARIGE|
C). Promote recovery\ WY Y Eal| deldl ol

D). All of these \ T gt




Q 5. Identify the tool shown in the picture.\ﬁﬁ[ H E{T\Yﬁﬁ Ry Gﬁaﬁ G
EEEIEY

T POINT =STRAIGHT POINT TYPE

A). File\ Xdl

B). Chisel\ BE|

C). Micrometer \msﬁﬁra‘
D). Scriber\@IAH

Q 6. Which one of the following is a measuring instrument?\ fAafafaa A
¥ HIF I b AT IUHI g2

A). Chisel\ &

B). Bench vice\ CEl Tﬂgﬂ
C). Steel ruIe\@ﬁ *Td
D). File\ Xal

Q 7. Identify the tool shown in the picture.\ﬁﬁf H EQTT@[ ma G?IT;IT? &I
CEEIET

‘Qk“\

A). File\ Xdl

B). Chisel\ &I

C). Micrometer \mgﬁrﬁ‘ﬂ
D). Hammer\E"ffS_T

Q 8. The distance between adjacent teeth of a hexa blade is known

as___ of the bIade.\%aﬂT S & Mpey aﬁ%aﬁaﬁgﬂaﬁ@rg
o & =7 F ST 11 2 |
A). pitch\ﬁfﬂ

B). frame\fﬁq



C). wing nut\ﬁ‘T ¢
D). Tang\ k|

Q 9. Which of the following operation is carried out to make the hole
dimensionally more accurate?\ @ & ¥ &I A1 a1 &% & f¥UF At
g4 & I foar Sran g2

A). Reaming\ﬁﬁm

B). Tapping\%ﬁ"f

C). Boring\aﬁﬁ"T

D). None of these)\ 3'_'fﬁ I ﬁ'sc :TéT

Q 10. Identify the type of chisel shown in the picture. \ﬁﬁ H guiy M
I B UBIR DI UgAT |

<
A). Half round chisel \G{?QC MATHIR T
B). Flat chisel \ HUIC B

C). Cross cut chisel \ﬁﬂ HT A

D). Diamond point chisel \ €W$ %‘g Bl

Q 11. Identify the machine shown in the picture.\ EER] ?ﬁlﬁa ma 7T &t
CEEIET

A). Milling machine)\ fafeT 7xiq
B). Drilling machine\ ﬁg’ﬁm 7YA
C). Shaper machine\ YU AT
D). lathe machine \ AqY AT

Q 12. Identify the instrument shown in the picture.\ﬁﬁ H Eﬁfa SUBTT
EARECIEN



A). Bevel protractor) d9d UETE?
B). Vernier caliper \aﬁftr? CANIES
C). Combination set\ HIFIYT AT
D). Sine bar\ g dX

\afHaT g9q

Q 13. Vernier bevel protractor is used to measure__
WeFRI BTUAT_____ 199 & fag fear s g

A). angles)\ I

B). Iength\ai*_!ﬂé

C). depth\TIgIS

D). weight\HIX

Q 14. Which of the following is a part of lathe machine?\'&"_'fﬁ I HIF T AY
7T &1 Up Rww §?

A). Headstock\%3ﬁ$
B). TaiIstock\%aE}f$
C). Carriage\%ﬁ\_ﬂ

D). All of these \ T gt

Q 15. Where is lathe headstock Iocated?\@fq ® %€ﬁ$ G| ua Eﬁ?ﬂ %?

A). At the right hand end of the lathe bed \@W IT P E‘T%ef BlY IRERCES
B). At the left hand side of the lathe bed \ WY 98 & &4 814 {4 U
C). In the middle of the lathe bed \ WY 98 & AH U

D). Under the lathe bed \@W 98 & i

Q 16. How many cutting edges are there in single point cutting tool?\ﬁma

Ui FRT A A Fai sRTIR AT R 2

A). 1



B). 2
C). 3
D). 4

Q 17. Identify the instrument shown in the picture.\ﬁﬁ[ H aﬁfa SUDhIT
EARECIEN

A). Inside Micrometer \31ic|i\<0b HI&SQ)\IH‘\ICQ
B). Vernier caliper \Cli:lrQQ Hferu

C). Vernier height gauge\ afHar Eiﬂg S|
D). Sine bar\ g dX

Q 18. Which of the following factor controls feed?\ﬁgﬁ’f@?‘f H A BT A
FRF BIs & AIRT ST g2

A). Tool geometry\ 3o sarfafa
B). Coolant used\ Ugdd iddd
C). Rigidity of tooI\G?[GlT? Pl Todl
D). All of these\ & gt

Q 19. Which of the following factor controls the cutting speed?\ﬁg%@a

T I DT I PRSP HicT W o FIfFa sdr g2

A). Tool geometry\ R wrfafa
B). Rigidity of tooI\Gﬁ\_rlTY P cedl
C). Depth of cut\ ®cC 3| T[_s'QTé
D). All of these\ T g

Q 20. Cutting speed is expressed in
ad fear orar g

A). meter\'ﬁﬁ'cf?
B). minute per meter\ e ufq e



C). meter per minute\ MeX ufa ffAe
D). per minute \ ufa faTe

Q 21. Knurling is done generally at spindle speed.\ FfefT arar=a.

f@isa nfd o3 ot ot 8 |

A). very high\ dgd 3HYH
B). high\3{f®
C). slow\ efr ey
D). zero \ Y[

Q 22. Knurling is a

A). cutting\ FHfeT
B). turning\Eﬁf‘T
C). forming \ﬁﬁ"[
D). welding\ af@T

Q 23. Which knurling tool holder is also called as parallel knurling tool
holder?\ &9 AfRIT T@ BIex &I FATR AT ¢ grey Wt Fg1 onar g »

A). Single roller knurling tool holder\ Tdhd Jax Ffefn cd EPIQ'_S'?
B). Knuckle joint type knurling tool holder\ & Ul\ls g1 Tfef cd EPIET
C). Universal knurling tool holder\ qﬁraﬁa Ffef cd B
D). None of these \ 3:fff I Ebar'sﬁ :fﬁ

Q 24. Which of the following is a type of lathe mandrel?\ﬁgﬁf@?‘f 7Y
DI I AY AT BT UH UHIR g7

A). Gang mandrel\ ﬁ’T ﬁ@ra

B). Stepped mandrel\ precy ﬁga
C). Screw mandrel\ ¥p ﬁ@'a

D). All of these\ T gt

Q 25. Which of the following statement is not true about reamer?

\Frafifea § 4 &9 91 sy a7 F IR & g 98 22



A). It is a multipoint cutting tool.\ g Ud QQ_tpftﬁgE FHfeT cd %l

B). It is a single point cutting tool.\ Ug IR EI'TE'_C’ FHfeT cd %l

C). Shank and body are the part of a reamer\ Th 3T dret U Ja3 &1
fRwm g |

D). All of these\ I gt

Q 26. Which of the following is a lathe accessory?\ﬁ'ﬁﬁf@a AT T
TH Ay ITATYT §°?

A). Welding electrode) afedT 5('\10@6
B). Three jaw chuck\ Il SI§3I ardl I
C). Drag\%‘T

D). All of these)\ I gt

Q 27. Which of the following material is used for making angle plate?

\UTTd We 9911 & I g d @ g wral &1 3udi fear s g2

A). Copper\didl

B). AIuminium\QFﬂIﬁﬁqq
C). Cast iron\ §qIdl WIg
D). Brass\"—ﬁ?‘fa

Q 28. Which of the following is the purpose of using coolant?\ﬁ'ﬁﬁ‘ff@a A
q MTAP DI STAT HIA BT AT ITW 82

A). To cool the cutting tool and workpiece\ HTeT ITHIT Gﬁ? HTAES Bl
3T HIA

B). To cool the room\ Y Bl ST BN

C). To cool the operator\ 3TGRET Bl 3T HIAT

D). None of these\_a':fﬁ I ﬁé :{‘s‘T

Q 29. is an operation of beveling the ends of a drilled hole.\

_______ U f$d fbT 71U f5% & 3id B 997 HIA & T HURUF 7|
A). Countersinking\ HIIeTRfhT

B). Boring\@fﬁ"{

C). Reaming\ﬁﬁm

D). Grinding\ ‘;IT'&"%‘T



Q 30. A gradual increase or decrease in the dimension along its length of

the job is

A). Taper\ TUR

B). Degree\ fsit

C). Roughness\@gX¥aTud

D). None of these \ E':Tff q a?r's‘ a8l

Q 31. Which of the following is a taper turning method?\ﬁgﬁ‘f@ﬂ 7Y
DT W TH cuR T P fafy g »

A). Compound Rest Method\®UI3E I% fafy

B). Tailstock Offset Method \%FTE’T$ Afpac Aafy
C). Form Tool Method\tb—\fﬁ cd fafyr

D). All of these\a gt

Q 32. Which of the following is a standard taper? \ Fofafedad 9 ST
RUST U Bl 82

A). Jarno Taper)\ ST U

B). Brown and Sharpe Taper\ §T3 3R g U
C). Metric taper\ 'ﬂoﬂ?\$ TUR

D). All of these \ T gt

Q 33. Which of the following is a type of lathe center? \ fFafafag 7Y
®IT I AY JTI BT UH UPIR §?

A). Ball center\ g =<

B). Half center\ @I =3
C). Pipe center\ UISU J=I
D). All of these \ & Tt

Q 34. How is the sign bar specified? \9Igd dI} GoRe ﬁ%lg fear Sran %?

A). From its top surface\'s'{-ld;\l 3Tl qdg I



B). From distance between the centers of the roller\ ?3[?1'? % %f_&pf % QCTE[
GRS

C). From the weight of sine bar \HIg- dIX F HIR Y

D). None of these \ ‘s’:rff I ﬁé :[_Eof

Q 35. Identify the instrument shown in the picture.\ CEE] E{Qﬁﬁf ma

JUHRU B UG |
| —

e

A). Plug gauge\ W7l S

B). Vernier caliper\aﬁq? FfauR
C). Micrometer)\ IITE'@"-:P[E?

D). Sine bar\ g dX

Q 36. The use of sine bar is basedon__ function. \HlgH dIX &I

g B R MYTRT Bl g
A). trigonometric\ﬁa’ffmﬁ[?ﬁq

B). algebraic\SISfOIqy

C). geometrical\@Tﬁ[?ﬁq

D). statistical\ﬂT@ﬂ’ﬁq

Q 37. Identy the gauge shown in the picture.\ﬁﬁf H Ty T A4S &I
gga |

Steel - Grade 2
32 Piece Set

A). Sine bar\ HIgd dI}

B). Plug gauge\ W7 S
C). Slip gauge\ &g a9
D). Ring gauge\ CURIEH

Q 38. Slip gauges are made of

CERGR

A). copper\ didl



B). aluminium) U,Flrﬂﬁq'q
C). mild steel\ g S¥Id
D). high grade steel\ 3= VIS Ll d

Q 39. In a lathe machine it is possible to turn the eccentric turning with

\ TP qY 7gefia A Pt AGE ¥ Ib 5 e

the helpof__
o HI Y9 B

A). four jaw chuck\ dIY U1®Ié_ aid IF

B). lathe carrier\ AY HRIT

C). knurling tool\ AT IUHRU

D). both four jaw chuck and lathe carrier\dIX \TIGI%_ aId Id ST AY HRI

a

Q 40. Where can an eccentric turned job be used?\Ud d@hrs‘( C"‘I‘S ICkE]
H8l IWHTT fHaT S ol 872

A). In power press\ Ufa 09 o

B). In power break\ Uigy g H

C). In guillotine machine\ e axfa §
D). All of these\ T gt

Q 41. Which of the following is used to guide the tool and locate the job
in mass production?\MAfIRIT & 9§ foadr yai 9g-I@ea & Sid BT T1=
fFeid HIF 3R € B M3 B $ T oy e 82

A). Gauge\ﬁ\_ﬂ

B). Housing\ BIJRIT
C). Jig\ ™I

D). Fixture\ GRS

Q 42. Fixture is a production device which .\ﬁﬁaﬂa? Tdh

IS I § o B |

C . o
A). Holds the workpiece\d Uy G U Sdl %
B). Locates the workpiece\dé?q\l{-l &l ﬂ\labc h X dl %
C). Holds and locates the workpiece\dé‘)qnl%i ﬁ U Sl qa" c1\|8r>c P dl %




D). Neither holds nor locates the workpiece\d ar s dg P Uhgdl 4 g"f
AHT HIAT §

Q 43. Which of the following is a type of chip breaker?\ fFAofafea @ 9 BT
1 fI9 9&HR &1 U TP 82

A). Step type\ XY THIR
B). Groove type\ d UhIR
C). Clamp type\ FAT UBIT
D). All of these\ & FHt

Q 44. Half nut mechanism is a mechanism found in

8% ¢ fharfafy

A). drilling machine\ %ﬁf"[ 74
B). grinding\ ‘JT%"%TT

C). welding\ af@

D). lathe\@Y

Q 45. The maintenance work carried out on an equipment in order to
avoid its breakdown or malfunction is called \%@f IUBI &

geH g1 @Y ¥ g9 & AT BT 1 SIR&0 H1d & CaRSIGIR

A). automatic maintenance\ LS BN SIIRET
B). negative maintenance\ BUTHD A&

C). break down maintenance) captin SIRET
D). preventive maintenance\ @& STIRETI

Q 46. The value of included angle for acme threadis \Q?:Fﬁ ELBPI &
e sigfa o sra g

A). 40°

B). 19°

C). 29°

D). 75°



Q 47. What type of threads are there in a lead screw of lathe machine?

\&Yy 92T F ofts T § 5T usR Bt e B 72

A). Acme threads\t{ai\[ q%m

B). V threads\ V 1_51\136’?3”

C). Buttress thread\ dcd %ﬂ%’m
D). None of these\ _"Q':fﬁ q ﬁ_sc :ré’r'

Q 48. is the surface connecting the crest and root.\

$E T FC DI AgT arell AT B

A). Flank\tlﬁ$
B). Pitch\fUd
C). Hand\%U@»r
D). Lead\?’ﬁ?s’

Q 49. The method adopted to make the tool follow the very same path of
the previous cut is knownas ___ of the thread.\gd P USd He &
T UY HT A0 HI4 & ¢ SuAs Ms A d gt & =7
o S S §

A). popping\tﬁﬁﬂ
B). grinding\ ‘JIT'%'%W
C). catching\%ﬁm
D). milling\ fafe

Q 50. External thread can be produced by means of

el & AT ¥ IAMT B off IH <l 7|

A). lathe machine \@fq R
B). drill machine \ %’FT R
C). grinder \ WSS

D). pipe cutter\ UISU X

Q 51. The most important characteristic of a lubricating oil is




A). viscosity\ ATl

B). physical stability\ Nfas fRyzar

C). chemical stability\ Jarafe Ryvar

D). resistance against corrosion\ J&T Ul & fea® gfavy

Q 52. What is the primary function of Iubrication?\@[_s':f &1 myfe ord
1 BI 82

A). Provide heating effect \ S BHI UHTG Ul hHl
B). Provide sealing action)\ el fooar garT &3
C). Provide cleaning action\ qtb‘[g“ far uarT &3
D). Reducing wear\ fIqIae &7 &3]

Q 53. Which of the following method is used for lubricating a machine? \

aefta &1 98T fg f9fY gy fear san g2

A). Gravity feed method \@fﬁe‘T Bre fafd
B). Force feed method \thlfﬁ B fafd
C). Splash feed method \?@[QT B fafd
D). All of these \ & gt

Q 54. Which of the following is a soild lubricant?\ ﬁ'ﬁﬁﬂ:@a T o9
TP 31 TP 87

A). Grease\ g

B). Graphite\ atﬁf'a'?:'

C). Mineral oil\ fH9RA egd
D). Synthetic oil\ Ridfew smud

Q 55. Which of the following is a semi-soild lubricant?\ Fofafed d 9 GIk|
T TF AG-319 WED g2

A). Grease\ Urg

B). Graphite)\ ‘3[175[5?:'

C). Mineral oil\ fava smgd
D). Synthetic oil\ Ridfes enad



Q 56. Which of the following is an advantage of preventive maintenance

system?\ FEfafad & § &9 AaR® &0 yonreh &1 UF @Y 82

A). Less down time in production\3dlg+ d &Y ATd HTaafy

B). Improves quantity and quality of product\ SdIg B AT 3R uradl H
JUR HIAT §

C). Lower unit cost of manufacture\ fAato ot &H $d>|£ dld

D). All of these\ & gt

Q 57. What can be the value of a back rack angle?\ 9P YD BTN BT HTT R
B &l 27

A). Zero\ YU

B). Negative\ZBUTHD
C). Positive\YdTHD
D). All of these\ T gt

Q 58. If the cutting speed is V m./min. and tool life is t minutes then what
is the relationship between tool life and cutting speed?(n and C are
constant \TTE &= fay v /4. ok IuHRw Sita « B9e § @ IusT
Siad iR Hd= Tfd & ST o W= g2 (n 3N

A). V=ntC
B). Vn=tC
C). Vtn=C
D). Vtn=2C

Q 59. When tolerance is given on one side of the basic dimension, it is

called \Yd 9RP STHYT U fay Uh AISS U <f ordl g,

A). Upper deviation\3UX Sifau==

B). Lower deviation\?’ﬁ\}[? @ﬁqg\fq

C). Unilateral toIerance\Hﬁ@[E?a LIESS|
D). Bilateral toIerance\aT_st@[_cr?a CIIEE:]

Q 60. Which of the following letter indicates basic hole?\ ﬁgﬁf@ﬁ "7
HIF I &R ga 5% o $Ma sar g2



A). E
B). F
C). G
D). H

Q 61. In shaft basis system, the size of__ is made constant.\ RMUC
3TYR goret o,

__________ BT MHIR YT F197 1T B |
A). hole\ &%

B). shaft\ MY

C). bearing\ CRIER]

D). key\ﬁ

A\siafdfaaa

Q 62. Interchangeability is normally applied for

AR U ¥ faT a7 gt B

A). repairing of parts\%@ P! I

B). mass production\dg UHTH UX IATGA

C). single piece production\Ud ] gh ST UG
D). multi piece production\dg g Sl SdIG

Q 63. Which gauge is used to check the pitch of a thread?\ 98 & fUg ot
Sifg B3 & AT f5d A9 &1 99T far Sran g2

A). Ring gauge\ FURIEH

B). Plug gauge\ Wil S

C). Standard wire gauge\ LISS I O
D). Screw pitch gauge\ ¥p FERIE

Q 64. Which gauge is used to measure the effective diameter of the screw
threads?\¥p oIl & YU 1Y &l AU & AT fq A9 &1 I fban
STl 82

A). Ring gauge\ R a9

B). Plug gauge\ Wil S

C). Sine bar\ IIgd dIX

D). Screw thread micrometer\ ¥p DcH IIT'&'EbafIﬁET



Q 65. Which gauge is used to check the internal threads?\3‘ITHﬁ$ ECL@?[ZI)[
o T & T 9 A9 &1 IuadT fbar ondar g2

A). Ring gauge\ R

B). Screw thread plug gauge \ ¥p 98 W I
C). Dial test indicator\ SIUd X é%abCQ

D). Sine bar\ IS 9}

Q 66. Which thread element can be checked by 'Go' side of screw thread
plug gauge?\&F € W AT & ' WSS U & IS d BT §ld DI o
TH §?

A). Pitch\fu=

B). Profile angle\ ﬁTW‘&'ﬂ ALl
C). Major diameter\UH4d UMY
D). All of these\ T g

Q 67. The dial test indicator is used in which of the following work? \
S1ad ¢ sfehey &1 Iud Ay # ¥ 159 o7 | fear orar 82

A). To check parallelism of shafts\ YT D JHATATAIAT Bl Wi HIA b ﬁffq
B). To check concentricity of holes)\ %a P a:)QhIObQUI P Fig HIT B ﬁffq
C). To check plane surfaces for flatness and parallelism\ JHJdddl 33
JHATARA & fIT qure 9dgl & g HIAl

D). All of these \ T gt

Q 68. Identify the instrument shown in the picture.\ﬁﬂ A ‘q’?{ﬁﬁ Mq
SUHIV Bl GG |

————————— ——— |
IR
|

| 2

|
|
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|
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A). Dial test indicator\ SIdd T g%%??
B). Vernier caIiper\aﬁq? Fforux

-
et ] MAGMETIE
- Tod |
L
|
|



C). Micrometer)\ IITgﬁIﬁE?
D). Sine bar\ g dX

Q 69. Which of the following is a type of dial test indicator?\ﬁgﬁﬂ@a H
T DI AT AT ¢ STEHTI BT TP UPIR g2

A). Plunger type\ WS THI

B). Lever type\ AR UPHIR

C). Both plunger and lever type\ W4 3R oftaR YHIR |
D). None of these\“&':fff I Eb;f'sc '_'Tgbf

_______ of cylindrical

P! Sig & g W= R A9 &7

Q 70. Plain ring gauges are used to check the
workpiece \STTTHIR HIHTS &
ST far S |

A). outside diameter\dlgl oUlYd
B). inside diameter)\ fafs &g
C). weight\ HIR

D). Iength\?’[WT_st

Q 71. Identify the gauge shown in the picture.\ﬁ’ﬁf T gy T A &I
g |

A). Snap gauge) AT AR
B). Ring gauge\ CURI]
C). Plug gauge\ W7 S|
D). Standard wire gauge)\ LUSE g

Q 72. The shape of snap gauge is similar to which English alphabet?\éq

NS & MHfA iU gufaren & f g 31 & AT gial g2

A). B
B). C



C). D
D). O

Q 73. Which of the following gauge is used to measure internal diameter

of a hole?\ &% & 3fdR® aO1g &I ATUA & fau Agffed § T g a9 &7
ST fbar Srdr 82

A). Plug gauge\ W7 S|

B). Ring gauge) LURI]

C). Standard wire gauge\ LUSS quR N
D). Feeler gauge\ BIaT a9

Q 74. Identify the gauge shown in the picture.\ IEER - Ry S &l
gga |

A). Standard wire gauge\ WUSS g
B). Ring gauge\ EURI]

C). Plug gauge\ W7 LIS

D). Feeler gauge\ Brav 19

Q 75. Which of the following gauge is used to measure outside diameter?\

Fofrfad d ¥ 5T A9 &1 IudT a1y g &) /41U & oI fFar Siar g2

A). Snap gauge)\ JT AT
B). Plug gauge\ Wil S|
C). Feeler gauge\ AGERII]
D). Center gauge\ =TI A9

Q 76. CNC stands for- \ %ﬂq:wﬁ T iUty %—

A). Computer numerical control \ PEeET qﬁﬁaﬁa $?§f?’[
B). Centre for number correction \@[UE'? BHIR 993 HYaT
C). Centralized number code\ {?I',C\Qﬂ%us SR cb\ls

D). Computer number control \ d)ull\CQ ECR o'bc;?lﬂ

Q 77. Which of the following is not an advantage of CNC machines?\

Fofafaa & ¥ &7 9 dread adi=t & @y T8 g2



A). High cost of machine\q‘\’ﬁ:f Pl I AId

B). Higher production\3= 3dIgH

C). High quality production\ 3= [UIddl Pl JdI¢H
D). All of these\ I gt

Q 78. Which of the following is not an advantage of CNC machines? \

Fofafag & ¥ &7 9 dread ai=t &1 @y 981 g2

A). High productivity\3= Jdlqd dI

B). Improved quality\aga? quradn

C). Low wastage \®H U0y

D). Requirement of highly skilled worker\ Jafd® PRA yfi® ot
AHTIRH dl

Q 79. Identify the machine shown in the picture.\ CER] Eﬂfﬁ R 7T &t
CEEIRT

A). Milling machine\ Al 7eftg

B). Drilling machine)\ %’f%m AT

C). Shaper machine\ YU AT

D). CNC lathe machine \ ?ﬁq:fﬁf @|E ALWMA

Q 80. Which of the following is a component of CNC lathe?\ Fafafad 7Y
HIF T WTAW AY BT TS U g ?



A). Bed\ 98

B). Ball screw\ Eﬁlﬂ@
C). Turret\ T

D). All of these\ I gt

Q 81. Which of the following axes of CNC lathe is also called the part axis?

\ Huadt wae & Fufafaa sl & 3 B3 wd sy Y &g sar g2

A). X
B). Y
). z
D). A

Q 82. Which of the following is the hardest cutting tool material?\

Fofrfad 3 ¥ &7 1 997 FR FaT SR THW 82

A). Carbide\ Wan“‘s"s’

B). Diamond\ _GQRT

C). Stellite\ ¥AIST

D). High speed steel\ 3= i THId

Q 83. In ISO nomenclature of insert what does first alphabet indicate? \

¢ & ATSUYSN ATHBIV H Ugdr quiie oy Sxidr g2

A). Shape of insert\ 37\‘:[?:; DI HTDIY

B). Relief angle \ Raiw s

C). Tolerance on various dimension\ fafrs emaral ux eravy

D). Overall geometric features of insert\ _5'7\‘:[?.; i P Ifdag ﬁ@[q?ﬂf{

Q 84. In ISO nomenclature of insert what does second alphabet indicate?\

TE & MUY AHABRU § g quferR 1 g2fam g2

A). Shape of insert)\ 37\‘:[?5 DT ATDhIY

B). Relief angle \ Reftw o

C). Tolerance on various dimension\ fafys emaral ux erdAvyg

D). Overall geometric features of insert\ 3?‘?% Gl P e ﬁ‘x?ftf?ﬂtf



Q 85. In insert type tool what can be the shape of insert?\ g:\qé HERELS

A 3¢ @ NFHfa 1 | gt g2

A). Square \_Ofo
B). Circle\ dd
C). Triangular\aaﬁUﬁH
D). All of these\ & I}

Q 86. Name that speed at which cutting edge passes over the material? \
39 fd &1 A8 IA1d, 59 g Wl F FT SR IR g2

A). Feed\tﬁofg

B). Cutting speed\ Faq wfa
C). Depth of cut\ ¢ 3| ‘IEHISr
D). Rabbit speed\%ﬁq"cr fa

A\UD HdT NTR &

Q 87. Feed of a cutting tool is expressed in

BIS Bl ¥ gad fear arar g1

A). mm.\ﬁ[ﬁ[.

B). mm.per revolution\ o, ufd gdsy
C). minute per meter\ 9 ufd d@iex
D). per minute \ ufd fqe

Qs8s. is the difference between machined and unmachined
________ aftfiea o su=fiied 9dg & €9 &1 Sid g |

A). Feed\tﬁo[g

B). Cutting speed\ Faq Tfa

C). Depth of cut)\ HT DI ‘TE’QT%

D). Rabbit speed\a\’%_cr T

Q 89. In which of the following step of the CNC machining process, the

cutting parameters are seIected?\?ﬁQ:fﬁf AT ufpar & ﬁgﬁf@ﬁ |
&g gvu & wféw Arudst &1 guT fFar orar g2

A). Program entry\ mary Ef—g.\pf
B). Part programming\ ard wranfE



C). Process planning\ maY W
D). Production\ MET

Q 90. Which of the following is a CNC operational mode?\ﬁgﬁ[@?‘f O3
B I TH A gRAraq 4rs g2

A). Single block mode\l?i‘lﬂ ATH HIS
B). Auto mode\ 3ffcl A

C). Manual mode\ frrq&ra s

D). All of these\ & FHt

Q 91. Which of the following is an advantage of CNC machines?\ﬁgﬁ‘f@a

T F DT g1 T 7t B Ay g2

A). High productivity\3= Sdlqd dl
B). Improved quaIity\agaT quran
C). Low wastage \®@H AUGY

D). All of these\ & T

Q 92. In which of the following CNC mode we can input the program
command manually and execute the program?\ﬁg%@a =i T ors| ﬁfq:fﬁf
mWME T g0 WIH FHS B AYAT €T ¥ 3TYC 3R WA & Awfed &3
IHd 82

A). Single block mode\ﬁma H HIS
B). Auto mode\ 3ffer A

C). Manual mode\ ﬁﬁa{ﬁ mns

D). None of these\ g:fff I ﬁ‘s‘ '_‘ffff

Q 93. Which of the following CNC mode program will execute continuously
one block after another block?\ﬁgﬁ[@?‘[ "I ey ?ﬁq:ﬁﬁ AIg H UramH Th
i[db & g MR g sl B [Awrfad s

A). Single block mode\l?i‘lﬂ ATH HIS
B). Auto mode\ 3ffcl A

C). Manual mode\ 'EFQS{FT s

D). Edit mode\ Q%E s



Q 94. Which of the following CNC mode is used to edit the program?\
Fafafea & 9 &7 91 Huad @ mwg o ufige $I7 F 7w 3T Far
EIGICE

A). Single block mode\RITTd =& AIS
B). Auto mode\ 3ffcl A

C). Manual mode\ frtq&ra s

D). Edit mode\ Q%E’ s

Q 95. Which of the following is a type of offset used in CNC machine

operation?\ MEff@d & ¥ &7 a1 Hrwad ai= & dwra & Iy fH3
W19 a1 3B AT BT UHIR 82

A). Work offset)\ I& AT

B). Wear offset\ fauz sffwae

C). Geometrical offset\ %re-ﬁfﬁ?a?a AT
D). All of these\ & gt

Q 96. Which of the following CNC machine operation offset is also called
zero offset?\ 38 ¥ I I WTAA =T yRAra AT I SN ATHAT
ff HT ST g2

A). Work offset\ IbH 3HHAT

B). Wear offset\ fagv sifwae

C). Geometrical offset\ %re,frf@$a AHIAT
D). None of these)\ g:fff I ﬁ“&f :[EfT

Q 97. CNC machine preparatory codes are also called codes.\

T AL B WUy His Hi

®Ig Wt H8 oar g

A). G
B). M
C). C
D). K



Q 98. Which of the following material can be used for making cutting

tool?\Fuffad & I fog WA &1 U7 Hd7 NWR 9914 & T fFar o
JHhdl g2

A). High carbon steel\3™ CAKE] Ll d
B). Diamond\%p[ﬂ

C). Coated carbide\@[ﬁﬂ ?ﬂﬁﬁ_&'g

D). All of these\T Tt

Q 99. Which of the following cutting tool is made of aluminium oxide?

\Fofafea & I &9 a1 Hd7 SR TgHFAgy sifeqrss § g1 grar g2

A). High carbon stee\ST HI§T ST
B). Diamond\_sbfﬂ

C). Coated carbide\afﬁa ma‘fsg

D). Ceramic\ﬁﬁﬁ-{a’?

Q 100. Which of the following is a constituent of high speed steel?

\Fafafaa & 3 &7 a1 g5 Tie ¥d &1 T 9ch 72

A). Carbon\ﬁé:f

B). Tungsten\E"TE:f
C). Chromium)\ HIfagy
D). All of these\ & FHt

Q 101. Which of the following is an attachment of lathe machine?

\FRafafaa 7 ¥ o197 9 dy a9 &1 Ia99s 72

A). Taper turning attachment\ SR off1 gaus
B). Milling attachment)\ fafdn dau®

C). Grinding attachment\ TJIT_S'%W TR

D). All of these\ I gt

Q 102. Which of the following operation can be performed on lathe
machine with the help of lathe attachments?\ﬁ'ﬁﬁ‘f@a T o9
STURYA Iy AAUS B! AGG § Ay =T U fHar o I&dr g2

A). Taper turning \ eur ef



B). Milling\&{ﬁ‘m
C). Grinding\mg%ﬂ
D). All of these\aﬂlﬁ

Q 103. Which of the following is an accessory used on face plate? \
fAgfafed # § #1919 we R I[N fHar 17 arar ITATYS g2

A). Angle plate\ A e

B). Clamp\aﬁq

C). Stepped block\él%r &lh
D). All of these\ I gt

Q 104. Name the angle which the helix makes with a line drawn
perpendicular to the axis in a screw thread?\ 34 PV BT ATH Fa1d Sl B
i ue ¥ g # oy & ArEad Widh T Y@ & WY 941 62

A). Rake angle \:\’$ DI

B). Helix angle\%ﬁf?ﬁ[ I
C). Thread angle\ E‘[\SQ[ ALYl
D). Relief angle \ Rei® S

Q 105. Where are the multi start threads used?\ g UI¥H i[%tﬁ P1 IUANT
EARERIECI Gl

A). In fly press\tIT'IT'sc ug |

B). In telescope\%ﬁ‘[wqﬁ

C). In thermos flask cap\m:fﬂ TAH HU |
D). All of these\a gt

Q 106. Which of the following is a method of cutting multi start thread?

\Fafafad & § o19 o 9g wy el & wreq ot tw Ay g »

A). Using slotted face plate\ Wics By We & gaiT
B). Using thread chasing dial\ ¥ IRIT STId HT YT
C). Moving the top slide\ | NIESS CARTCREAE]

D). All of these\ & FHt




Q 107. Identify the instrument shown in the picture.\ CER] E‘('Qﬁa LIy
SYHI DI GgAH |

= s

A). Digital outside micrometer\ f$fTT IS AIFHIHICI
B). Digital vernier caliper\ fefored aftar sferuz

C). Standard wire gauge\ LISS TqIR N

D). Plug gauge\ Wi S|

Q 108. Which of the following is a measuring instrument?)\ Fafafag e
®IF 9T b ATGT IUHI g ?

A). File\ ¥t

B). Vernier caliper \Hﬁq? %ﬁfqu
C). Scriber\@ﬁa$

D). All of these \ T I

Q 109. Which of the following is a non-ferrous metal?\ﬁgﬁ‘f@a T 9
TS AIE UTg §°

A). Cast iron \ eddl thT

B). Wrought iron \ﬁEaT F‘ﬁfﬂ
C). Steel\ SHId

D). AIuminium\QFﬁIﬁﬁqq

Q 110. Identify the power transmission means shown in the picture.\ﬁﬁ T
Y Y Yfed GO YT B UgAA |

A). Gear\ firax

B). Clutch\ adid

C). Coupling\ AR
D). Belt \ 9



Q 111. Taps are used for ___ threading of the component.\ Ycdh P

_____ AfET & faw 2u &1 IuTT fvar Srar §

A). external only\ Had digl

B). internal only\ Had Tak®

C). both external and internal \ dl&l 3R fialR® 33f'_-ﬁ

D). neither external nor internal \ I ar digl | ézf fafk®

Q 112. Which one of the following is an advantage of using gauge?\
Fafafed 8 9 &9 91 79 T ITAT HIA HT TS AqTY §?

A). Saving time\ ¥HY &I §9d

B). Increase in production\ Idred | Q@

C). Both saving time and increase in production\ dHY &I g9d 3N Sl
# gfe

D). None of these \ ‘s’:{ﬁ I ﬁ‘s‘ :[_sof

Q 113. The direction in which the cross slide of a lathe moves is ......... /
g% fexn 9H U WC &1 Y WSS IAd 8, TE @ .......

A). Parallel to the axis of rotation/ 3{& & AR

B). Perpendicular to the axis of rotation / & *» dgrad

C). At angle of 45 degree to the axis of rotation/ & Y 45 W & Ho1 4
D). At any angle to the axis of rotation/ 3& ¥ fed f S oz

Q 114. Which expression is correct for least count of vernier caliper? /

IR HfIUR & rcudnis & 61T ST I ATH Jat g2

A). Value of one M.S.D .—Value of one V.S.D. / Udh M.S.D .hl HIT-UdhH
V.S.D. &l HIH

B). Value of one V.S.D .—Value of one M.S.D. / U V.S.D . h] HII-TUDH
M.S.D. I HIH

C). Value of one M.S.D . + Value of one V.5.D. / Udh M.S.D .d[ HIH + Th
V.S.D. &I HIHF

D). Value of one M.S.D .-% Value of one V.S.D. / U M.S.D .h[ HIT-UdDH
V.S.D. Pl % HIH



Q 115. What is the function of back-gear mechanism provided in cone
pulley in headstock of lathe? / WRIq & g8wXi® H QU 74 &9 g?ﬁ P 9P
gz AF ST &1 H1d F1 gran g2

A). To reverse speed of spindle / gfr Pl 7T B I

B). To increase speed of spindle / ﬂﬂ P T DI dell

C). To reduce speed of spindle / ﬂﬁ P! T BT HH HIAT

D). To transmit power from spindle gear to stud gear / fAisd a9 w3
X & graR Jarkd &3

Q 116. The minimum reading that can be taken with a vernier caliper is
called ......... / TR FfIuR § o o1 9B o gaaw e
HEaTd g |

A). Zero count / SR B1dT

B). Minor count / HISX BI3T
C). Basic count / I® ®Ide
D). Least count / e BIIT

Q 117. "V" block used for holding round jobs, has its "V" groove of ...... /
MATHIR TG DI GHSH & AT AT g ard "v" sl b1 "v" d
U Bl |

A). 45 degree angle / 45 S oo
B). 75 degree angle / 75 S B
C). 90 degree angle / 90 ST oo
D). 120 degree angle / 120 St P

Q 118. How is the pein of a straight pein hammer positioned? / Tdh e_cr

09 gUIS &t Ui9 & f5T UHIR qman orar g2

A). Across the handle / E‘:’Rﬁ & TR

B). Straight to the handle / gt g der
C). Oblique to the handle / gt ur %3{
D). Tilted to the handle / _s’?ﬁ U T g3l



Q 119. A steel ruleisa .............. / b gId |
A). Direct reading measuring instrument / U & AfST Arg &1 93
B). Precision measuring instrument / Uﬁ‘xﬂ?&r?ﬂ " &1 47

C). Marking instrument / 3{%9 7

D). Checking instrument / Slid dF

Q 120. In which direction does the carriage of a lathe move? / Tdh W[

&1 HR 5T oo & Tqdr g2

A). Parallel to the axis of rotation / & » AR

B). Perpendicular to the axis of rotation / & & dwad

C). At any angle to the axis of rotation / 3{& g fed f #ior o

D). Either parallel or perpendicular to the axis of rotation / Il IR
HTX g1 d&dd

Q 121. The grooves provided on the full length of a twist drill are called
LR ams e @id __ HEAA g |

A). Margins / mrfofa

B). Webs / Jsg

C). Flutes / WJC
D). Lips / fos

Q 122. What is a die stock used for? / ETg Tie &1 gaT fog ﬁ‘[Q far Smar

87

A). To hold the workpiece / TJHUT B UEES%T & ﬁ‘fq

B). To hold the die / T3 &I UH S & T

C). To make internal threads / MaR®H E‘[%ZIT 919 & ﬁm
D). To make external threads / angfr ﬂ\%?ﬁ g7 & ﬁfq

Q 123. What is the point angle of centre punch? / eI ug &1 EITE'E I
1 BIa 82

A). 30 degrees / 30 fst
B). 45 egrees / 45 fs



C). 60 degrees / 60 fsht
D). 90 degrees / 90 st

Q 124. When is rough turning tool normally used? / X% aff [Scal g
THAR UR & fhar ordl g2

A). When the spindle speed is too high / Sd fsd & 1fd 999 dod Eﬁ?ﬁ %
B). When more stock is to be removed / 9 d 3HfY® wih Bl B Cll 33[
C). When good surface finish is required / 9 B gdg RIS ag®

Gl

D). When soft materials are to be turned / SId AXH ua%fﬁ T HIAT Epf

Q 125. A chisel is likely to dig into the workpiece if ............... / Th EEiica
IHNY F T BT B GG § TR

A). Clearance angle is low / FGYF BT A €3f

B). Angle of inclination is more / ®Id P AfFH E;T
C). Rake angle is more /%$ CIUREIRER @

D). Angle of inclination is less / PId I HH Eﬁ

Q 126. A screw thread is formed on a cylindrical surface by cutting ......... /
JAAIHIR Fdg UR Ud & gfear HICH TS oldl g |

A). Helical grooves / %ﬁwa PCl

B). V - grooves / V - Yd

C). Square grooves / giffg 4

D). Half round grooves / 31’?5(c MATHIR PCl

Q 127. In a single-start thread ......... / Th Ria wrd EL@)[ 2=

A). Lead and pitch are equal /F‘ﬁg 3R fUg gara Epf?‘ﬂ%

B). Lead is double the pitch / Fﬁg, U o _g_{"[-_-ﬁ @?‘ﬁ %

C). Pitch is double the lead / ﬁra, S Bt §‘T:ﬁ Eﬁ?ﬁ %

D). Pitch is one-fourth of the lead / ﬁ%r, s i Tdh Eﬁ?ﬂ'sc Eﬁ?ﬁ %

Q 128. The hardest cutting tool material is ........... / {-IGI@I Obo\li GbCIsr
IUHIV TS § o



A). Ceramics / Riyfa®

B). Cermets / gHe

C). Diamond / eﬁr

D). Cemented carbide / dAes ao‘raf‘s’@r

Q 129. Graphiteisa ..............us / ‘3[1?5[3?.'13$ ________
A). Liquid lubricant / dXd @f%’$

B). Semi-solid lubricant / 31’?&; 31y @[E"$

C). Solid lubricant / 3y @[E’$

D). Semi-liquid lubricant / \3{&; axd @[E’$

Q 130. The function of chip breakersisto ............... / T 96T & GaE
______ gl g

A). Remove chips from the bed / I8 9 ﬁ[U?{_S' Cal| B ClHl

B). Increase life of the tool / 3SR &Y Stgrafy &t dell

C). Break the chips into short segments / ﬁfttr‘sf P! Bic el H ?‘ﬁgm
D). Minimize heat generation / S®™H[ I SdUIqd ®H h -l

Q 131. A lathe tool has front clearance angle of 8° and back rake angle of
15°. Its wedge angle Will be ...oo.veveueeniinn.n, / Th TG SUDBIU BT e
AT BIUN 8° 3R IF IH HIV 15° §, IABI A HITT G-

A). 67°
B). 75°
C). 82°
D). 33°

Q 132. The factor which has no influence on the selection of the cutting
speed is - / BIRD STHHT HeTg Tid & AT U DI YU 78] 81 98 © -

A). Material of the workpiece / IHUY P rad

B). Material of the tool / SUHIT] CARIEEPI

C). Diameter of the workpiece / JHUY BT AT

D). Lathe operation to be done / %ZIT \)1I:| CINIRERIKA cI’>I¢T




Q 133. An angular workpiece is to be faced. It should be mounted on ..... /
TP ST gHUT g3 gyar fear o g 39 U AT ST

@R

A). Three-jaw chuck / 0i-Sif 9%
B). Collet / Fifae

C). Between centres / %st * St
D). Face plate / Y We

Q 134. When tolerance is given on one side of the basic dimension, it is
called .../ 9Td J& 3MUTH & TP dI® Ay of ot g, al I8
HEAT 2|

A). Unilateral tolerance / E$U&ﬁa Iy
B). Bilateral tolerance / @U&‘ﬁa Iy
C). Trilateral tolerance / Auety efavy
D). No tolerance / aﬁé Ay :TEPf

Q 135. What is the point angle of a scriber? / Udh tgerﬁ F 3N CdEERS)
&1 fdg S0 1 Sl ]2

A). 5° to 10° / 5° ¥ 10°
B). 12° to 15° / 12° ¥ 15°
C). 30°

D). 60°

Q 136. In a metric micrometer, a complete revolution of thimble advances

...... / U Hifew mgpidier ¥, N &1 Ud YR 95 3T gl

A). 0.01 mm / 0.01 fadt.
B). 0.25 mm / 0.25 fH#.
C). 0.50 mm/ 0.50 fHHI.
D). 1.00 mm / 1.00 A4



Q 137. The taper shank drills should be removed from the machine spindle

by means of ......... /TR AF fga B ... & Ted § A=iF Usa ¥ germ
ST AT

A). Drift / [§Te

B). Tang of a file /:\’T‘ﬁ P17
C). Punch / U9

D). Hammer / g?ﬁ@ﬂ

Q 138. The commonly used hacksaw blade is ............... long. / ITHTYT:
U g1 9Tl gl FT s T BT B |

A). 100 mm / 100 fHH.

B). 150 mm / 150 fHH.

C). 200 mm / 200 fadt.

D). 250 mm / 250 T,

Q 139. The lathe part which is used to give depth of cut is ........... / dg
[T HITT TGS gAT He St g3 7 & fae foar Srar | -

A). Top slide / Ty ENIESS

B). Cross slide / HIg RNIESS]

C). Compound slide / PUIIE T3S

D). Tool itself by adjusting it / g HXP LC 3SR

Q 140. While cutting internal threads on lathe with single point tool, the
spindle speed should be ...../ RITd dfgc ¢a ¥ WY U M<IR® Ffear
Hred & e, Rgsaafa g =fe

A). Less than that for plain turning operations / @ e fmwaT & ﬁ‘fq
g1 ardl fd 4 &1

B). More than that for plain turning operations / T T TR & ﬁ‘fq
g1 arell fa ¥ sffds

C). Same as that for plain turning operations / Q= e fwa & ﬁ'ﬂ!
HECINIRIGCIREIE

D). Difficult to say precisely / BIEGESUK gl g%a %



Q 141. What should be done during turning if better surface finish is to be
obtained? / I IFH T UF fAw i &3+ & ot <71 & 19 T T s

e w?

A). Increase both speed and feed /Wﬁf 3R Wi Il & delHl

B). Reduce both speed and feed /‘Tﬁf 3R Wi aIFl B HH BHIAT
C). Increase speed and reduce feed /Wﬁf dell 3R BIg HH HIAT
D). Reduce speed and increase feed /‘Tﬁf HH HIAT 3R BIg deldl

Q 142. Which of these is a semi-liquid lubricant? / 'Q':fff T HIF @I TUh 3y
XA WP 72

A). Grease / WIS

B). Graphite / ‘Efth—['sf?_'
C). Lard oil / TS dd

D). Castor oil / a'TET ad

Q 143. The reading accuracy of steel ruleis ............... / Id qaTe &
dfsm gdear B B

A). 1.0 mm / 1.0 fadt.

B). 0.5 mm/ 0.5 f&dL.

C). 0.2 mm / 0.2 fadt.

D). 0.05 mm / 0.05 A

Q 144. The tool used to cut external threads is .............. / EITEQQI ﬁ[\%?ﬁ
HIe & AT gaT g1 arer SASiR § ...

A). End mill / TS 4
B). Tap / U

C). Die / TT%

D). Stock / Tld

Q 145. The distance moved by a tool along the work during each
revolution of the work is known as ........... / a'$ & H(*:ICh dadh *® L‘TI{I-I
9% & 1Y ¢ I ag &1 T g ATH 4 S S ]

A). Feed / HiS



B). Lead / IS
C). Speed / fa
D). Pitch / fUg

Q 146. A 50 mm diameter bar is to be turned on a lathe at the speed of 25
m / min. Calculate rpm? / Udh 50 et @t IR @ 25 Iﬁ??/ﬁf:f?faﬁ HIGRCES
UH TS TR e 37 {1 S 8| rpm Bt 0T HY|

A). 139 rpm
B). 149 rpm
C). 159 rpm
D). 169 rpm



LEVEL 1 ANSWER KEY

Question No. |[OptionfQuestion No. |[OptionfQuestion No. [OptionjJQuestion No. |Option
1 D 41 C 81 C 121 C
2 C 42 C 82 B 122 B
3 A 43 D 83 A 123 D
4 D 44 D 84 B 124 B
5 D 45 D 85 D 125 B
6 C 46 C 86 B 126 A
7 D 47 A 87 B 127 A
8 A 48 A 88 C 128 C
9 A 49 c 89 c 129 C
10 B 50 A 90 D 130 C
11 D 51 A 91 D 131 A
12 C 52 D 92 C 132 C
13 A 53 D 93 B 133 D
14 D 54 B 94 D 134 A
15 B 55 A 95 D 135 B
16 A 56 D 96 A 136 C
17 A 57 D 97 A 137 A
18 D 58 c 98 D 138 D
19 D 59 C 99 D 139 B
20 C 60 D 100 D 140 A
21 C 61 B 101 D 141 C
22 C 62 B 102 D 142 A
23 A 63 D 103 D 143 B
24 D 64 D 104 B 144 C
25 B 65 B 105 D 145 A
26 B 66 D 106 D 146 C
27 C 67 D 107 A
28 A 68 A 108 B
29 A 69 C 109 D
30 A 70 A 110 A
31 D 71 A 111 B
32 D 72 B 112 C
33 D 73 A 113 B
34 B 74 B 114 A
35 D 75 A 115 C
36 A 76 A 116 D
37 C 77 A 117 c
38 D 78 D 118 B
39 D 79 D 119 A
40 D 80 D 120 A




TURNER THEORY LEVEL-2

Q 1. What is the value of point angle in a center punch? \ T U H Ald &
IO BT AT fb T grar g2

A). 30°

B). 60°

C). 90°

D). 120°

Q 2. Which of the following is a part of vernier caliper?\ fofafea # 9
P19 T IFIR FRATR T T&H Y17 52

A). Main scale\ ¥ Hd

B). Vernier scale \aﬁtﬁ Hd

C). Movable jaw\ ddlUHIT WIdSI

D). All of these \ T gt

Q 3. Which of the following is a drill holding device?\ﬁgﬁf@?‘f T I BT
T UF fod QIfET Iumor g2

A). Headstock\%3ﬁ$

B). Drill chuck\ fod@ a®
C). Work table\ Ib T
D). None of these\ ‘s’?ﬁ I ﬁ_ﬁc :féT
Q 4. File is tool \Xdll U

A). marking\ RIGE|

B). measuring\HIUA

C). bending\ dhH

D). cutting\ HdA

Q 5. Identify the tool shown in the picture.\ IEER AU MY ¢l Cal q_‘c‘??ﬂe[l

A). File\ ¥t
B). Hexa frame\ %Tﬂﬂ HH



C). Hexa blade\%aﬂT Eyic)

D). Chisel\ |

Q 6. Which of the following is a part of vernier height gauge?\ fAafafaa H
Y I A1 IHIR S5 IS $T TP FR/W 82

A). Beam\ IR

B). Vernier scale\aﬁqq BT

C). Base\ 3TYIR

D). All of these \ & Tt

Q 7. Which angle of the cutting tool controls the geometry of chip
formation?\ ®CT A & PIF A S0 I & 9994 B foban & AAHT HIaw
82

A). Rake angle \%$ HIT

B). Clearance angle \ FAGYG BT

C). Point angle \ EITE'E' BT

D). None of these \ 3:fff I Ebaf's£ :ffﬁ

Q 8. Identify the knurling tool holder shown in the picture.\ IEER: IR
7T 9T T S B UG B |

A). Single roller knurling tool holder\ U d JaR AfdT cd 33[0_5'?

B). Knuckle joint type knurling tool holder\ d&d \Si\ls g1 AfefT cd EPTQ'_S'?
C). Universal knurling tool holder\ qﬁaﬁa Ffef cd 33[0_57

D). None of these \ 3?& I ﬁé :[Epf

Q 9. Which of the following lathe accessory is used to give extra support

for a long slender workpiece in addition to the center support during

turning?\[NAfIfad & ¥ 17 1 Y IuWYS 71 & AT Fg IadT &
AT TP s gdd prams o faRk®

A). Steady rest\ TIITE

B). Lead screw\Fﬁ_S'@

C). Knurling tool\ Ffefr SR

D). None of these)\ 's’=rﬁ' I ﬁ'sc :TéT

Q 10. Which type of taper is turned in tailstock offset method?\%aﬁ$

fmae AfY ¥ 59 gwR &1 TR &l e+ fFar Jar g 2



A). External\dlgl

B). Internal\ fiaik®

C). Both external and internal\ §g& 3R SfialR® aﬁr

D). None of these\ S':fff I ﬁi‘: :re"f

Q 11. The center fixed in the tailstock spindle is knownas

ewle Rigd # wWifug I=<I & P FY T W11 A1t 2

A). Live center\ dIgd =3

B). Dead center\ 3T I3

C). Ghost center\ e <X

D). Faint center\ T A<

Q 12. The center which is accomodated in the main spindle sleeve, is
known as A\ A Red %ﬂ‘\ldﬁ@ﬁr_ﬂ?am%, 3 &

=Y § ST 1 2 |

A). Live center\ dIgd e
B). Dead center\ 3T =X
C). Ghost center)\ e =<3
D). Faint center)\ T q=<TX

Q 13. Which grade slip gauge is used for precision tool room applications?

\ IAF ¢ ®F AJUATM & [T oy I Rau A« &1 Iud foar sran g2

A). Grade 00\TS 00

B). Grade 0\US 0

C). Grade NTS |

D). Grade INUS Il

Q 14. Which grade slip gauge is used for inspection purposes?\ﬁﬁ&‘fUT

3Tl & fau g O AU 9 &1 Iudw fear snar g2

A). Grade 00\US 00

B). Grade O\‘}I_S' 0

C). Grade |\13[€ I

D). Grade INTS Il

Q 15. Which of the following is used for marking jobs quickly? \ fAofafaa

7 F fFger A oig uR fudr ¥ \fdT H39 & o fFar srar g2

A). Template\ THde
B). Jig\ form

C). Fixture \ fhagaR
D). All of these\ T gt



Q 16. Apron mechanism is a mechanism found in __

machine \UWA fpanfafyr ___ q=fa & urdht o1 aret v franfafy g
A). CPU\ HITIg

B). mixer\ﬁ[a'\q?

C). welding\ af@

D). lathe\WY

Q 17. Identify the type of thread shown in the picture.\ﬁﬁ[ H E{Qﬁﬁ[ g
IS &b UHIR Pl YgdT |

Pitch

+ —wPS2

Piteh
Diameter

A). Acme thread\lfa;ﬁf T’aj\?‘:-)f

B). Square thread\ ¥hTIX T’aj\?‘:)f

C). V thread\ Vv TQL@)[

D). None of these)\ 3'_'fef I ﬁ"&c :TéT

Q 18. What type of threads are there in a screw jack?\¥p 9P # fFT usR
! gfear it g2

A). Acme threads\lf?fﬁf EJ\%TIT

B). Square threads\ IhTIX EJ\%QT
C). V threads\ V T*«J\%ZIT

D). None of these\ g:fff I ﬁ‘s‘ '_‘fﬁ

Q 19. Which of the following is the correct relationship between lead and

pitch?\ Fofrfad & ¥ &7 a1 <fre Nk U9 & o9 9 Idy g2

A). Lead= Pitch+Number of starts\ WS = T + U¥Y B =0

B). Lead= Pitch-Number of starts\ WS = U9- gRY & =

C). Lead= PitchxNumber of starts\ WS = fUIx URY & G

D). Lead= Pitch/Number of starts)\ WS = ﬁfﬂ/?ﬂi” CAREE)|

Q 20. is the difference between the maximum limit of size

and the minimum limit of size.\ AMHIR Bt AfYHIH AT 3R

THIR B FATH HH & §F BT 3R g

A). Tolerance\ CINEE:]
B). Low Iimit\?ﬁﬁ[ﬁ[?
C). High limit\ g3 fafie
D). Range\%\_ﬂ



fit.\ Th YdTHD

Q 21. A positive allowance will always have a

AAIY H gAY TH e g1 |

A). Clearance\ feagiyg

B). Interference\%??%%ﬂ

C). Transition\ E\T'Gﬂ’ﬂ:[

D). High limit\ 8T8 farfie

Q 22. CNC machines are controlled by a

G ¥ g Aafd fear aran g

\ gt gei

A). Programme\ urH

B). Drag\%ﬂ

C). Cam\ G|

D). Plug board system)\ Wil IR LYl

Q 23. If d is the diameter of work in m.m. and n is rotation per minute
then what will be the formula of cutting speed (in meter per minute)?\
gfe o FrIdEE & 9 .M. § 8 3R n o ufd f=e & @ siem ufa
(dtex ufd f=e #) &1 g3 T g

A). mx d/n x 1000

B). txdxn/ 1000

C). d x n/ 1000

D). d/n x 1000

Q 24. Which of the following is the command for coolant off?\ ﬁgﬁf@?‘f |
J DI A e AF & AT FHIS 82

A). M0O
B). M05
C). M07
D). M09
Q 25. Which of the following is the command for program stop? \

fFgfafed 7 9 &9 91 HHis MUTH ¥U & e 82

A). M0O

B). M0O5

C). M07

D). M09

Q 26. Which of the following is the command for coolant on?\ IEEINIEE |
Y BT I o T & T HAIS 22



A). M0O

B). MO5

C). M07

D). MO8

Q 27. Which of the following G code is used for linear interpolation
operation? \ MARIRAT & @ &9 W ¢ HIs AR TeUANT yarad & fag
U farar ST g2

A). GOO
B). GO1
C). Go2
D). GO3
Q 28. What is the CNC word address for function spindle rotation speed? \

GSd A WS &1 & g e 98 TsT &1 giar g2

A). M

B). S

C). G

D). F

Q 29. What is the CNC word address for miscellaneous function?\ﬁfa"d
14 & fau dread 98 T« rar g2

A). M

B). S

C). G

D). F

Q 30. Top rake angle is also called__ .\Qﬂﬁ%% PO DB i DBl
ST R

A). back rake angle\ 9% ¥F I

B). side rake angle\ T3S Y& DI

C). back cutting angle\ 9% BT P

D). side relief angle\ 9T S Reftw o

Q 31. A fixed steady rest is fixed to the lathe ATDH has w3t

Iy g3 YT i1 & |
A). saddle\ﬁ_s'a

B). bed\ 9§

C). tool\gd

D). Iamp\?fq



Q 32. A follower steady rest is fixed tothe __ of the lathe.\ Tch

Bl REIT AU S____ UR T ST § |

A). saddle\aga

B). bed\ 98

C). tool\gd

D). Iamp\aq

Q 33. How many adjustable pads are there in a fixed steady rest?\ s

XTI § fHad guasg 0 gid 72

A). 2

B). 3

C). 4

D). 5

Q 34. How many adjustable pads are there in a follower steady rest?\
HIAay e 3% | fod= gararsy 98 gid 82

A). 2

B). 3

C). 4

D). 5

Q 35. The lead on a double start threadis__ the pitch.\@ UR™ ELSCT
R drs, UT 9

A). twice\ Eﬁ‘l‘ﬁ

B). thrice\ GiE] ﬂ:ﬁ

C). half\amdt

D). equal\dXTdX

the pitch. \fgUd urIsy

A). twice\ Eﬁﬂ:ﬂ

B). thrice\ ar ﬂ:ﬂ

C). half\3mdt

D). equal\€XTdX

Q 37. Dial indicator is a comparator.\ SIId ‘{;%ghcﬂ Th

A). mechanical\tlTﬁ?ﬁ
B). opticaI\UWZ‘Zﬁq



C). chemical\ﬂmqﬁf$
D). eIectricaI\ﬁa\'ﬁ?ﬁq
_Q 38. Identify the given tc_)ol.\ﬁEr R 3?[3”? Ca U_S'Eﬂ%fl

A). File\ Xt

B). Chisel\ EE|

C). Micrometer \IITE'EI'?[I?[E?
D). Scriber\@ﬁﬂ$

Q 39. The principle of working of micrometer is based on ........... /
HISHIHCTI & HIH &I BT Rgia ____ gx TR g § |

A). Stud / ¥¢s

B). Bolt / dlte

C). Screw / ¥p

D). Nut and bolt / T 3R AT

Q 40. The objective of specifying tolerance on part size is to .......... / HIT

GRS

& ATPHR R efasy &l Ay A wr3gm
A). Facilitate production / 3dlgd Ca ﬁﬁ‘t’ﬂﬁ:{$ CEIGI
B). Increase production / 3dIqd del-l

C). Produce part within the required permissible size error / 3TdRg®H
AT PR Ffe & viax w1 &1 Aty

D). Finish the part to approximate size / GIjHIIr'\-Id MHIR B HITT B JHTE
HRAT

Q 41. A face plate is used when it is required to turn .......... / old

DI AIST P AMIWWH I Bt & a B W & YA fbar Srar g

A). Regular shaped jobs/ Aafid ek & '_‘TH\%[

B). Flat jobs/ |OTC AGA

C). Irregular shaped jobs/ Jfafla ek & :frj\%f

D). Any job / T ¥l ot A8 &1 AT

Q 42. In hole basis system ............ / @a sRg gomat & ...

A). The size of the hole is made constant/ %E{ & ATHIR B [T F971471 S

g



B). The size of the shaft is made constant / RMTUC & B ®I [Agd g9
SIGI

C). Allowance is given only on the hole / »Id @'3 °K} ‘5‘1 ey foar Sran %
D). The permissible tolerance is given on the end and the shaft / 3{d 33
MUE TR AT Sraxy <f ot §

Q 43. Which operation cannot be done on a lathe if the workpiece is held
between centres? / TG UR DHIH H1d Al fHa1 1 Il afg IHHA I
Dl & ST W AT BI?

A). Thread cutting / I8 HfeT

B). Parting off / arfé i

C). Knurling / :f%‘T

D). Undercutting by plunging / rIESE IXI ATHET

Q 44. The function of tumbler gear unit provided in lathe is ............ /

T A Ru M cmaR Mar glc s Hd g ...

A). Change direction of feed / BIS &I G g

B). Transmit motion from feed shaft to carriage / IS QMHS q ébi\{\ﬂ T 7fa
AR BT

C). Change the direction of motion of the work / H1d Bt Tfd Bt fomm
ENEL

D). Alter spindle speed / f@sd of 7fd & I

Q 45. How is the size of a three-jaw chuck specified? / M-S IF & MBI

o $Y Ay fear srar g2

A). By thickness of each jaw / TS Sl ot ﬁaé gIxT

B). By diameter of the body of chuck / d & 3T HIT & Y gIxT

C). By width of the body of chuck / I® & g U1 P Eﬁ@g R

D). By size of each jaw / TS Sl & MHIR I

Q 46. In the BIS system of limits and fits, how is the size of 25 hole
deviations specified? / ﬁf&f?ﬂ 3R ﬁﬁ{ﬂ &t BIS TUME '-Ef, 25 @'3 FEGE
(B SfATR) F1 PR »¥ Py fovar Sran g2

A). By capital letters / aé & I

B). By small letters / BT A& g

C). BY small letters with numbers / 37 31 gfgd BIC & G

D). By small letters with tolerance / INERS gfgd BIc 37&R gl

Q 47. What will be the effect on the front clearance angle of the cutting
tool, if it is set below the centre height on a lathe? / FHfeT cd & A7
Bt S U R YU TI, 37R I8 WIS IR $% DI $Hdls 4 A9 AT




far ar g2

A). The angle will increase / ST de I

B). The angle will decrease / I UT SITE

C). The angle will remain the same / HI0T AT ?%Tﬂ

D). The angle will become zero / I RIG E:;T SITE

Q 48. Which angle provided on lathe tool prevents rubbing of the body of
the tool with the workpiece? / WTq 3UDBRTU U Yql- far mar S aﬁw,
IHHT & Y IUSHIV & GBI YT &F I3 § Fa7dl 82

A). Helix angle / %ﬁfaﬂ CaLy|

B). Side rake angle / 9IgS IF BT
C). Clearance angle / FANGYY BT
D). Top rake angle / T[T Y& B0

Q 49. How many gears are there in the tumbler gear unit of a lathe? / Tdh
[E Pt clgax Max gfie & frad Maz a g2

A). One / Udh
B). Two / @
C). Three / GG
D). Four / dIX

Q 50. What is the purpose of providing slots on the angle plate? / UTTd
WT UR WIed Ul &9 HT I &1 grdl 82

A). To reduce its weight / DI dold HH HH]

B). To align the work / 1Y B Ufadasg &

C). To hang on to a hook / g% UX ACHIT & ﬁ'ﬂl

D). To accommodate bolts / e B gATAIRNG HIAT

Q 51. Why are the teeth of hacksaw blade 'set'?/ F‘ﬁ%’[\}ﬂﬁ P XS D aid
Jc FI g1d 82

A). To avoid friction between blade and workpiece / ®L'\15 \’rﬁ? dé‘)ﬂﬂ &
a9 990 ¥ 994 & fag

B). To increase strength of the blade / 0(-'\16 3| J-I\Slq\clhl d(:}l:l % T%‘UI

C). To prolong life of the blade / SIS I SaaTafYy B d(i;l:l & ﬁﬂf

D). To make sawing easy for the operator / 3Tg¥eT & ]%TQ PIc B B
1Y g4 & g

Q 52. What is lathe bed made of?/ GG 98 fHAY F9dT §?

A). Mild steel / Hg S¥Id



B). Cast iron / eddi ?’IﬁfET

C). High carbon steel / 3T BT ST

D). High speed steel / 3 fa Id

Q 53. A surface plate isused to ................ / 9% e BT AT &

Re@ae

A). Check trueness of flat surfaces / HHdd HHE’;T P gafﬂ NIEE]

B). Check surface roughness / ddg ® {gﬁd?lq'-l CARSIEE!

C). Hold round bars during marking / 3@+ & GIIT MATHIR TR DI TH S
D). Check roundness of cylindrical work / SATMHIR 9 B Tﬁ?ﬂ_sc CARSIE]
BHIA

Q 54. The rake angle of lathe cutting tool .............. / @XE HidT ¢ ol

XB DI e

A). Prevents rubbing / XIS I gardl %

B). Determines the type of cutting action / Hied B fobar &1 ysR MuiRa
BT &

C). Controls chip formation / RILLIS & 3T B [HIFT s %

D). Determines the profile of the tool / UM Pl H\Imlsd Fuiftd H3an %

Q 55. The function of ratchet stop provided on a micrometer is to ..... / Uh

AgHIHER U foT 73 YTT WU &1 H1d glar g

A). Impart blow motion / A PI Tfd a1 &

B). Maintain sufficient and uniform measuring pressure / ggie 3N JHA
HIY qdld d4TU 3dH]

C). Lock dimension / 3TATH d¢ HIAT

D). Prevent wear of screw threads / ¥ Gl Ej\%tﬁ CIRCREREEIE!

Q 56. After drilling a hole it is found to be larger than the size of the drill
used. The probable cause is ......... / U% 8¢ f$d HI4 & «1g 98 U Dt
T f3a & MR ¥ T8 71| TS GHUIAd IR § ...

A). Helix angle is not accurate / %I?MH HIT BT :Télf%

B). Lip clearance is not accurate / forg ocftady ﬂ?f "I'c‘:nl'%

C). Too much feed was used / dgd Ffd® Wig &1 yA fear mar

D). Cutting edges are of unequal length / Ohcilsr fop Y SrgATT Q1J-<SII'$r 33%
Q 57. A 25 mm diameter rod is to be held in a single spindle auto lathe.
The collet used is ......... / T Rivd e efict @g # 25 AH. =9 &t
IS P I@AT g IUAT fHa T3 HIRICT§ oo

A). Push type collet / GRI UhIR Pifere



B). Draw-in collet / QI-g1 Fifare
C). Dead length collet / 3T WY Hifae
D). Master collet with pads / ag H%T‘f e difde

Q 58. The best form of chip formation for turning mild steel workpiece is

/ g SW1d a5 U &t <A1 & [y Aws 789 &1 399 ¥4

A). Long curly chips / S YZ‘ERT@T ﬁrmts’

B). | - shaped chips /I - NIEJIRG] ﬁftqg

C). Spiral chips / WI3d WS

D). Segmented chips / wfsd ﬁrtqs

Q 59. What coolant is used when turning cast iron workpiece? / cdadi Fﬁ%

P IHUIY Pt < H g Nddd &1 gaqT gar g2

- o [

A). No coolant / Plg RYldddh el

B). Water / ar=t

C). Soluble oil / GAARNA dd

D). Straight cutting oil /@AE FHiET dda

Q 60. Which file will you use for filing an aluminium workpiece? / Tdh

TgHITn & U & 97 & gUT o1y S XA H gAT HIA?

A). Rasp cut file / [ h<C ¥t

B). Curved cut file / Hd B al

C). Single cut file / g ®e ¥t

D). Double cut file / Sdd b EGil

Q 61. Morse taper has the sizes ............ / oY euR MHIR |

e,

A).Oto7 /0% 7

B). 4to 12 /4 ¥ 12

C).2to 20/ 29 20

D). 6to 10 / 6 ¥ 10

Q 62. Which taper has been adopted by International Organization of
Standardization as per 1SO 2962 / 1SO 296 & 3(JHIR HAIIATIY AITBIDHI
ST GIRT BT I TUI ATATTAT 74T g2

A). Brown and Sharpe taper / 9134 3R g U
B). Jarno taper / S4f 2uR

C). Standard taper pin /@Ugé U U

D). Morse taper / mY eux



Q 63. As per Indian Standards, a special set of slip gauges is used which
consists of ........... / MR A19®! & 4R, AU 19 &1t @19 A< g
fearsrar g oy B ||

A). 81 pieces / 81 U1

B). 112 pieces / 112 UIg
C). 120 pieces / 120 U g
D). 130 pieces / 130 UI¥
Q 64. What is used to align a lathe tool with the work? / db P H%H TUdh
TIE IUHIV & WF/T HI9 & 0w o g fear orar g2

A). Try square / agé Pl ‘Iﬁtﬂ

B). Centre gauge / e o9

C). Thread gaauge / 98 I

D). Straight edge / @AE T

Q 65. A plain ring gauge is used for checking .............. / wH R A9 &1
EOIRl| Siad & fa fvar s g

A). Taper holes / TUY ﬁra

B). External diameter of cylindrical parts / JATABIR HIT BT aTE{ﬁ Ay
C). Internal diameter of cylindrical parts / STAAHIR HIT BT dRNE g
D). Major diameter of external threads / EIT_S'ﬁ E‘[%a)f ol UHY i

Q 66. Toughness of a cutting tool means the ability to withstand
............... without failure. / T% HTIs SUBRT & AAG BT AIAT §
fawad & fa=r BT FIHAT B DI &H |

A). Wear / foara

B). High temperature / 3= dIUHIA

C). Impact forces / UHId dd

D). Chemical reaction / Jarafae gfafear

Q 67. What is used to guide the tool and hold the job in mass production?
/ % IATEH T T Bl MIS HIA 3R G Bl 8@ HIA & AU 1 g4I
forar e g2

A). Housing / BTSRRI

B). Jig / T

C). Fixture / fheRI=R

D). Gauge / |

Q 68. A bushing is provided in a drill jig for the purpose of ............. / fsa@

o & gfRim IEI & AT UeIA &t A<H |



A). Easy drilling / 3T %’ﬁ‘m

B). Determining the size of the hole to be drilled / %’FT f»g S a1 ¥ &1
IR iR &3

C). Locating accurately and guiding the drill for precise drilling operation
[ IAF T J WIT FI7 3R gAF 3T daraa & e fga & mzs &7
D). Getting good finished surface in the drilled holes / %’ﬁ ICRRIE] %3 A
38T I Il

Q 69. The type of threads suitable for lead screws of machine tools is ..../

AT ¢ & AS ¥ & [T Iugad Ifeq T UPR G ...

A). British Association Threads / fafew Q@fﬁft{m:{ QSH

B). British Standard Whitworth Threads / fafew @3 IPO\E;COI?f Qaa

C). Square Threads / ¥PTIAX QEH

D). Acme Threads / QEFef Q_SZH

Q 70. Which one of the following centres is suitable while cutting taper by
set over method? / ¢ 3R fafy gI1 TUR Hrew & a4 Rufafea o 9
ST YeI Iugad gl 82

A). Ball centre / §rd dex

B). Half centre / BI™]h e

C). Plain centre / T e

D). Revolving centre / Raffed T e

Q 71. Which among these tools can be used at the highest cutting speed?/
fofafad & & oW IuHIU I=TAT Fers T & AT A fFar s gea

87

A). H.S. S. Tools / TJ.UH.UY. ¢
B). Cast steel tools / BIE LI cd
C). Cast alloy tools / ®IE TA cd
D). Carbide tools / ma‘fsg cd

Q 72. It would be besttouse .................vee. for mass production of
watch components machined from bars. / dIX T fAfda ]%313 g ‘JE_& &
I F IS YA R @I » forg P IUTANT HIAT IIY D]
B |

A). Capstan lathe / ST IS

B). Turret lathe / §\_rf W[

C). Main spindle automatic lathe / ¥ f@ed snciAfe® g
D). Engine lathe / S99 TX§



Q 73. The grit size of the abrasive used in grinding wheel is usually
specified by the ..../ UNUI URY § YA g1 a1 JU9¥S &I BIT PR
MAMI U ______ g1 fafféy fban san g

A). Size of the wheel / q%ﬁ F ATHIR

B). Hardness number / HIRAT G-

C). Mesh number / Y B

D). Surface or hardness of the abrasive / AUYNH Bl gdg dl H Il

Q 74. What type of jig is used if machining is to be done in more than one
plane? / O T® ¥ 3fd® w4 & AMHT & 91 & @ 59 gdR o 571 &
g3 fohar Srar g2

A). Plate type jig / e EER o1

B). Template jig / emae o

C). Open type jig / 3gd crgy form

D). Box type jig / Sle €I8Y 17

Q 75. What should be done when maximum material is to be removed
while turning, but maintaining the same tool life? / SId e & aQT:T
AfAHTR AraI B garl g1 dfed a9 ¢a siarafy ot 913 @+t & @t &
fepar s =1few?

A). Increase depth of cut / & <C G| ‘Tgﬂ_sc A delHl
B). Increase feed rate / BIg T Bl deldl

C). Decrease cutting speed /$ET§ T & FH HIAT
D). Increase cutting speed /$ETSF fa &t delHl

Q 76. The soft grade grinding wheels are denoted by the letters........... /
e g Uy ufgy 1&g Ay 53 od §)
A).AtoH/AdH
B).ItoP/19P
C).Qtoz/Q¥z
D).AtoP /AT P
Q 77. A sine bar is used to measure ............. / U gig- IR BT AT
@ AuA & fae foar srar g

A). Internal tapers / MRP T
B). External tapers / A&l TUX

C). Surface roughness / U8 gIaIUA
D). Gear profile / firax Eﬁtb—f'a'a



Q 78. What is the percentage of chromium in H.S.S. Cutting tool material?
/ T9.U9.TY. ¢ ga wral & Hfgy &1 ufawd fea grar g2

A). 0.60%

B). 1%

C). 4%

D). 16%

Q 79. The compound slide swivel base is set at 45° to the centre line of
the lathe. The degree of the reading at the cross slide index will be ... /
HUSE WSS RGTd 99 45° U WIS & H& ¥@ UR I oA 741 § 1 &Iy
WIes se | g =1 fg

A). 30°

B). 45°

C). 90°

D). 135°

Q 80. What does the servomotors used on CNC machines provide ?/ CNC
A= & gAIT g1 arar gardie’ 1 Ward S g2

A). Excellent speed regulation / 3P ¥ fa fafgaa

B). High torque / 3™ a3

C). Efficiency / Q&dl

D). All of these / T gt

Q 81. Which component of CNC machines enables positioning of the tool
to an accuracy of the order of one micron? / ﬁﬂz:r?ﬁ Al & EbS[:[ g1
3a9d TP HISHIT & HH Bl Dl & [T IUDHIV BT Ty e &1
T g g

A). Lead screw / @IS b

B). Feed screw / HS b

C). Ball screw / g b

D). Speed screw / s P

Q 82. This is the origin for the measurement of dimensions of workpiece.
The CNC programmer is free to select it anywhere on the drawing. What is
this called as? / 8 IHUNYT & MATHI BT AT BT AT g | ARJ U Hal ft
3UST Ig9 HIA & fau drgad uiww

A). Work base / g 99
B). Work reference / Ib IBIF



C). Work start / Ib T
D). Work zero / CEZASIE
Q 83. The CNC code "G02" means ......... / CNC PIS "G02" BT AIAST %

A). Rapid traverse / @Rd arRTHa

B). Linear interpretation /%@$ UreAl

C). Circular interpolation, clockwise / UIRUE U&}fq, ET?\HUT[HFf

D). Circular interpolation, counter-clockwise / ITUE] Ut‘?fq, araTad

Q 84. The feed screw is a long driveshaft that connects to a series of
gears in the apron in order to drive the carriage along the ..../ BIe ¥h Udh
SEIRS EE RIS | I & 1Y HRIT 3137 HIF & T Tg= & AR
& YT J NI 7|

A). X - axis / X - &

B).Y-axis/Y-3H&

C). Z-axis/Z-3H&H

D). X - axis andY-axis/X-G{&fﬁ?Y-\’:{&f

Q 85. Which CNC code cancels the mirror image coordinates for double
turret turning centres? / S99 eXe < ¥eX & T S cne BS AR
AT HIfEAT H I HIAT 82

A). G94
B). G76
C). G72
D). G69

Q 86. The jaw plates of a bench vice are made of .............. / Uh CE aré'ﬂ
ARSI ¥ [ffa gt §)

A). Tool steel / ¢< gHId

B). Mild steel / Hg S¥Td

C). Bronze / Caks|

D). Cast iron / eddi FﬁBT

Q 87. The best position to hold the job in a vice when filling is .......... /

ffei BT IHT 997 B! UHTA F Ifd R G ...

A). Eye level / 3@l & &I U
B). Elbow level / BIZH & ¥R U
C). Shoulder level /$€J *F WY 4R
D). Arm level / §18 & WX UX



Q 88. The feature which refers to vitrified bond grinding wheels is ..... /

98 faQwar S SianAy d49 gad Iwo gigal &t ofik Aeffd s § ...

A). Used for longer period due to dense structure / 3G AT & HIRU dd
TAg d% IuAIT fHar Sran §

B). Used for longer period due to an elastic structure / Uch Q’I\Iddli N EEE]
& HRU IS 99T 9F I fHar ordr g

C). Not sensitive to shocks and pressure / 31335 3T qdld & gfd @’ré‘c{qaﬂa
g gIel

D). Suitable for wet and dry grinding / et iR ﬁ@ ﬁfﬂT‘sﬁ & ﬁ'ﬂ'\f SUYad %
Q 89. In a gap bed lathe, the gap is provided ............ / T 7Y 39S WM 'ﬁf,
Y U T fear ordn |

A). Just below the nose of the headstock spindle / -E\;S%CTw Ir{?qSﬂ &
YUY & THGH id

B). Just below the spindle of the tailstock / EQ’NCTOb $ @6(‘1 % U qH :ﬁ%f
C). In the middle of the bed /é:c: g H

D). Anywhere in the bed / I3 WX FHal it

Q 90. The special gear of 127 teeth or 63 teeth may be used to cut metric
threads in a lathe having British lead screw. It is known as ..... / fafecor s
W ¥ gad s Wie | difew gfeal sred & e 127 gidl a1 63 aidl &1 AR
a3 g fean

A). Idler gear / 338 AR 1A

B). Change gear / EEBUEE

C). Translating gear / E\Tﬂaﬁﬂ LK

D). Compound gear / HUIS AR

Q 91. A fixed steady has ................ / Uh s wsid
A). One adjustable pad / U JATO U

B). Two adjustable pads / o gHIarsy LIS

C). Three adjustable pads / T gurarsg oS

D). Four adjustabe pads / dIX JATAST TS

Q 92. The shoulder which is used on a component to be threaded is ...... /

M@ IS g7 99 T o7 ard T gof uR il 6-

A). Square shoulder / ThTIY M

B). Radius shoulder /%%qﬂ MR

C). Undercut shoulder / 3IHEIHT WY
D). Bevelled shoulder / JIE MR




Q 93. Which of these will be used to cut multi-start threads on a lathe? /
TP WG UR Aecl-Wie gfeal died & Ay 398 § fbqd uarT faar smame

A). Die head / ST_QF %3

B). Split die / f&dc &%

C). Single-point tool / ﬁ‘Ta—tﬁgE cd

D). Chaser / EISES

Q 94. A shaft of 50 mm is to be rough turned to diameter 42 mm in one

pass.When will you check to ensure the set depth of cut is correct? / Ud

so T, & e & tH g H 42 A, & oy # I% < A w1 g
Y &y YAYT HI9 & T i b

A). After the tool has travelled the full length / €< gIXI qg“r Q’“-Gﬂir CAKIE]
®IT b dIg

B). After the tool has travelled half the way / gd gIRT YT T dY HIT B
diq

C). Just after the cut is taken at the tailstock end /%?TE}[JEF Y ¥ ®e f&y
ST & gXd §1g

D). After the tool has travelled a distance more than the angular shoulder
/ €O IR TaR e ¥ S g 99 HIA & d1g

Q 95. While thread cutting on a lathe by using single point tool, the tool
moves in a path called as ..../ RITd Uigc QFTWU@[‘T DY W[ U E‘L%ZIT
HTe & QIIH, ¢a HEAT W4 aTd Ty H I |

A). Rake /:\’$

B). Cycloid /Wgﬁgg

C). Helix / gfa

D). Epicycloid / mﬂm‘s’aﬁs‘s’

Q 96. A left hand tool on lathe cuts most efficiently when it travels
.......... / @A FT AR U8 ¢ Pt g3 99 HId gU IIY H Al
I HIed g

A). From left to right end of lathe bed / G 98 & S I aTﬁ ¥ a®
B). From right to left end of lathe bed / WX ST H U I |1y Y d%
C). Across the bed / 98 & TR

D). In angular position / Ity Rufa |

Q 97. B.S.F. threads have the included angle of ............ / B.S.F. q\%tﬁ ff
P AT BT BT 3|




B). 45°

C). 55°
D). 60°
Q 98. In a threaded assembly, the contact between the male and female
threads takes place on the ............ / U ‘}IﬁETT Jyat ff, 7d 3T BIAT

Y AT AdgDd U glar gl

A). Pitches / ICE

B). Flanks / Y

C). Crests / BT

D). Roots / ¥

Q 99. Which one of the following is the remedial measure to prevent the
tool cutting edge chipping off? / fFofafea 7 9 CAE R cd ChCI‘:-: B &I
¢ed J 917 BT SUARITHS IUTT g2

A). Increase feed rate / HIg g delHl

B). Reduce cutting speed / $ETT;-§ T & HH HIAT

C). Decrease nose radius / YUY B AT B geTT

D). Use negative top rake / A7 efg I% &1 UM

Q 100. A workpiece is to be turned from 60 mm to 55 mm diameter. Each
graduation of the collar of the cross feed is 0.02 mm. To obtain required
depth of cut......... / T% U &1 60 . ¥ 55 . & og ur T+ &R
8| P19 BIS & HIaR I UAS &

A). Turn cross slide hand wheel by 125 divisions / 125 T 9 iy ANIESS]
TU8 ' &I TH B

B). Turn cross slide hand wheel by 100 divisions / 100 YT b 1Y NNIESS
308 T B T B

C). Turn cross slide hand wheel by 75 divisions / 75 T 9% HIg ENIESS]
BUS Id B TH B

D). Turn cross slide hand wheel by 50 divisions / 50 YT & g ENIESS]
308 @A Pl TH B

Q 101. A four-start thread of 1 mm pitch is to be cut. The pitch of the lead
screw is 3 mm. Calculate the change gears. / 1 . g & BR-wrd q\é‘l

DI BTl 11 g | S T &I U= 3 AW, g I« fMrav &t 7o &Y

A). Driver / Driven =30/ 40/ \jl’srdi / i:id"l =30/ 40
B). Driver / Driven = 40 / 30 / $13d% / f$39 = 40 / 30
C). Driver / Driven = 20 / 30 / §13d% / f$a9 = 20 / 30
D). Driver / Driven = 30 / 20 / 918d% / {39 = 30/ 20



Q 102. Which grinding operation cannot be done on a lathe? / Tdh WX[q

g3 S s fhar 78 3t o1 IHdt g2

A). Cylindrical grinding / EINEIGIRS fﬁmé

B). Taper grinding / TUR ﬁf?ﬂé

C). Surface grinding / U§ ﬁf?ﬂg

D). None of these / ‘s’:{ﬁ q ﬁs‘ :[_Eof

Q 103. Find the tailstock set over to cut a taper 1 in 20 on a job 250 mm
long. / 250 . I A UR 20 ¥ ¥ 1 <Y &l HIcH & AT A7 TAL D B
Id B |

A). 3.15 mm / 3.15 foH.

B). 6.25 mm / 6.25 T

C). 8.15 mm / 8.15 fHHI.

D). 10.25 mm / 10.25 f#I,

Q 104. When more than one diameter is machined on a shaft, the section
joining two diameters is called ..../ 9Id Tdh T 3fY® g Bl Tdh YMUC U
a2t fear Snar 81, O & T B S ardr Wi HEAT B

A). Face / HYg

B). Chamfer / %['555?
C). Shoulder / MR
D). Groove / ¥Yd



Level 2 Answer Key

Question No. Option Question No. Option Question No. Option
1 C 41 C 81 C
2 D 42 A 82 D
3 B 43 B 83 C
4 D 44 A 84 C
5 C 45 B 85 D
6 D 46 B 86 A
7 A 47 A 87 B
8 C 48 C 88 D
9 A 49 C 89 A
10 A 50 D 90 C
11 B 51 A 91 C
12 A 52 B 92 C
13 C 53 A 93 C
14 B 54 C 94 D
15 A 55 B 95 C
16 D 56 D 96 A
17 B 57 C 97 C
18 B 58 A 98 B
19 C 59 A 99 D
20 A 60 C 100 A
21 A 61 A 101 B
22 A 62 D 102 C
23 B 63 B 103 B
24 D 64 B 104 C
25 A 65 B
26 D 66 C
27 B 67 B
28 B 68 C
29 A 69 D
30 A 70 A
31 B 71 D
32 A 72 C
33 B 73 C
34 A 74 D
35 A 75 A
36 B 76 A
37 A 77 B
38 A 78 C
39 D 79 B
40 C 80 D




